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(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/mM#Z#B% % - -~ - -|[3mZEEBR S -~ - - -| 100kN/MZ#BZ % - -~ - -|3mEBZ D -~ - -
znLs 1.00 | 0.00 ~ 316 40.539 | =nS | 000 ~ 316|229 12.24 Fhn s 1.00 | 5.00 ~ 56.00 40.39 | =0 | 5,00 ~ 5.00)]2.29 12.24
P 100kN/mM%Z#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/M#%# 8% % - -~ - -|3mE#BZD -~
Zh s 1.00 | 000 ~ 347 43.96 | Fhs | 000 ~ 347|221 11.83 LS 1.00 | 5.00 ~ 5.00 43.96 | #nLSY | 5.00 ~ 500|221 11.83
100kN/m%Z#BZ % ~ 3m%EBAS ~ 100kN/mM%Z#BZ % ~ 3mEBZD ~
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Zh s ~ Zh LS ~ Zh LS ~ Zh s ~
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